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M.Com.DEGREE(C.S.S.)EXAMINATION,JULY2o2L
Fourth Semester

FacultY of Commerce

COTC CM. O1O 402-INCOME TAX-ASSESSI'TENT AND PROCEDURE

rll.Cc,n:, Finance and Taxation, M.Com. Finance and Taxation (SF) I\{.Com. l\'Iarketing and

Inrernational Business (SF), M.Com. Management and Information Technoiogy (SF)

[2019 Admissions]

Time : Three Hours l\'Iaximum Weight : 30

Section A

Answer ant eig}nt questions'

Ansuer sh.all tot exceed One Page (Weight \)'

1. \\trat is Revised Return ? What is the tirne limit for filing a revised return ?

2. Explain Tax Avoidance'

3. Expiain in brief the criteria for determining the residential status of a Company.

.1. \\-rtte a note on refund of tax and interest on refund'

5 . Explain in brief the condition for allowabilit1' of deduction of interest to a partner'

6. Give a brief note on the exemption available to Co-operative Societies.

7 . ]1r. Avinash is an employee of Info Ltd., Chennai. He receives basic salary of Rs. 65,000 p'm"

He also receives D.A. (Forming part of retirement benefits) of Rs' 5,000 p.m. and House Rent

allorvance of Rs. 6,000 p.m. He lir.es in a rented house pa3'ing a monthly rent of Rs. 6,500' Find out

his taxable salarY for the Year.

g. AB and Co. is a partnership firm whose operations are carried out in India' Flowever, all meetings

oi'partners take piace outside India as all the partners are settled abroad. Determine Residential

status of firm for A.Y' 2O2O-21.

g. A. individual need to pay Rs. 1,ti0,000 as advance tax. By 15th of June, how much amouni' must

be paid by the indir.idual ? What u,ill be your ans\\'er if his advance ta-r liability is only Rs' 9,000'

ililtillllllllilllIlll

lillffiH#ffiffiffiffilllll

114

Turn over



-

IIIIffiHfiffiffiffiffiII|ii
21001.056

10. l\{rs. Anu is an dancer. She derived income of Rs. 20 lakhs from her perfbmance in foreign countries.

Tax rvas deducted from income @ 20 -'%. There is ncr agreement fbr double taxation avoidance.

Indian income of Anu is Rs. 6,50,000. Compute the tax liabilitf if she is an ordinary resident.

(8x1=8)

Section B

Answer azy six questiorts.

An swer slrull rtot exceed two pages . l\Yeiglfi 2) .

11. What are the different t1.pes of trusts ? Expiain the exemptions available to charitable trust in
detail.

12. Who is responsible to collect tax at source ? When tax has to be coilected at source ?

13. The Hyderabad Co-operatir.e Society has the following sources of i.ncome during the financial year

2479-20 :

Income from pr,)cessing u,ith tire aid of power-Rs. 8,000.

Income from collective disposal of labour of its member-Rs. 15,000.

Interest from another co-operative society-Rs. 25,000.

Chargeable incorne from house property-Rs. 60.000.

Income from other business-Rs. 55,000.

Find its total income, shorving the computation under proper heads of income, and the tax pa1'able,

as per the provisions of the Incorne-tax Act, 1961.

14. A Public Charitable trust registered u/s 12AA. for the previous year ending 31-03-2020 derived
gross total Income of Rs. 21 lakhs lvhich consists of the faliowing :

(a) Income from properties held bv trust (net)-Rs. 10 Lakhs.

(b) Income (Net) from business (incidential to main obiects)-Rs. 4 Lakhs.

(c) Voluntary contributions ilom public-Rs. 7 Lakhs.

The trust applied a sum of Rs. 11.60 Lakhs for Charitable purpose during the.vear r,r'irich includes
reparrment of loan taken for construction of Orphanage Rs. 3.60 Lakhs. '

Determine the ta;able income of trust f,or the assessment year 2O2O-21.
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Examine the iiabilitl' of tax deduction in the follorving cases :

(a ) A TV Channel pays a prize money of Rs. 10 Lakhs on 01.09.2019 to the rn,inner of a quiz

. programme.

(b j State Bank of India pays Rs. 50,000 as monthly rent to the Central Government for a

building in u,hich one of the branches is situated.

tc) A television company'pays Rs. 80,000 to a carneraman on 6th January,2,02A for shooting
of a documentary fiim.

(d) A State Government pays Rs. 22,000 on 02-07-2019 as commission to one of its agents on

sale of lotter1. tickets.

A, B and C are partners in ABC and Co rn'hich has sustained a loss of Rs. 2,00,000 during the
prer.iou-s .vear. Remuneration paid to A R-s. 75,000, B Rs. 1,00,000 and C Rs. 50,000. Find out
taxable income of firm as u,ell as the remuneration taxable in the hands of partners.

Write a note on return of loss.

Who is liaole to pay advance tax ? State the due dates for pavrnent oi'advance tax b1'an indiridual. I

(6x2=12\

Section C

Artswer o)LJ- two questiorts.

Ansu:er shall not exc:eed five pages. (Weight 5t.

\Vhat is Tax Planning ? Explain ho'iv tax planning must be done for an individual har.,ing business

income.

A domestic company. ABC Ltd., furni-*hes the foliorrying particulars in respect of Assessment Year
2020-21and seeks your opinion on the application of Section 115 JB. You are also required to
compute the total income and tax payable.

Profits as per Statement of'profit and loss as per the Cornpanies Act, 2013-Rs. 215. Lakhs Statement
of Profit and Loss includes :

(a) Credits : Dividend income from Indian companies-Rs. 20 Lakhs.

Excess realized on sale of land held as inr.estment-Rs. 30 Lakhs.

(b) Debits : Depreciation on straight line method basis---Rs. 100 Lakhs.

Provision for loss of subsidiary company-Rs. 60 Lakhs.
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Depreciation arl0rvable as per the Income-tax Rures, 1g62_Rs. 150 Lakhs

:*11fii;Tll1.:"'ns 
on sale or land mentioned above as computed under rncome-tax Act,

Losses brought forward as per books ofaccount and as per Incorne-tax Act, 1961 :
Business loss_Rs. 50 Lakhs.

Llnabsorbed depreciation _ Rs. 60 Lakhs.
27' X'Y and Z are partners in a partnership firm sharing profits and losses in the ratia af 2: 2 : 1. Forthe preriious 'vear, the folrowing incomes \4'ere earned bv the firm :

Profits from business after deducting remuneration and interest to partners-Rs. 4s,000.Interest earned on Fixecl Deposits_Rs. 15.000.
Remuneration to Mr. X_ Rs. 1,50,000.

Interest on Capitai to Mr. y @ 1g Zc_Rs. 40.000
Unabsorbed depreciation_Rs. 25,000.

Brought Forrvard Business loss_Rs. 20,000.
Short term Capital gain on sale of land_Rs. 25.000
Compute total income of Firm as weil as the ta_r payable b-v it.

22' Find out the amount of advance ta-x pa1'able b.-r' Nfr. A on specified d.ates under the Income-tax Act.1961 for the financiar ;.ear zarg_2o : 
rvu,rLq ual.']s tllrLler

Business income_Rs. 4,g8,000.

Long term capital gain on g1_5_201g_Rs. 
60,000.

Winning from lotreries on l2-6_207g_Rs. 50.000
Interest on loan_Rs. 10,000.

Other income*Rs. b,000.

Investment in ppF_Rs.10,000.

?ax deducted at source :

Case 1 Rs. 88.000

Case 2 Rs. 15.000

]ilffiH$ffiffiffiffi]lll

4/4

(2x5=10j


